ILETROMEC

999999999

ALUMINIUM PROFILE &
ACCESSORIES PRODUCT
CATALOG

LIMA

" 2019

www.letromec.com



OUR SERVICES

Dt o

All of our engineers are well trained
have many experiences in the construction

and

of aluminium profile systems. We are able
to meet our customers specific application
demands through the use of our in house =
CAD support service.

CUI O LENGIH SERVICE

We provide our customers with a Cut
Down service to satisfy specific
length requirement. The advantages
are the cross-section ends are burr

free and do not need to be reworked

I1E

| Q'_ \‘{
HOUSE &« ON S

ASSENDBLY SERVICES

With our experienced and
technicians, and our fully equipped
workshop on site, we are able to assemble
efficiently to meet our customers high

quality requirements

T™



TABLE OF CONTENT

ALUMINIUM
PROFILE

PAGE: 1-4

STANDARD
FASTERNER SET

PAGE: 5

BUTTON HEAD
SCREW

PAGE: 5

UNIVERSAL JOINT

SET
PAGE: 6

INTERIOR
BRACKET

PAGE: 7

GUSSET ELEMENT

PAGE: 8-10

3 WAY
CONNECTOR

PAGE: 11

PROFILE HAMMER
HEAD

PAGE: 11

SLOT NUT

PAGE: 12

HALF ROUND NUT

PAGE: 13

RHOMBUS NUT

PAGE: 14

HINGE

PAGE: 15-16

MAGNETIC LOCK

PAGE: 17

TOOL HANGER

PAGE: 17

FLOOR BRACKET

PAGE: 17

MULTI BLOCK

PAGE: 18

END CAP

PAGE: 19

FOOT MOUNTING

PAGE: 22

CASTOR WHEEL

PAGE: 23-28

UNIVERSAL
HANDLE

PAGE: 19

JOINT
CONNECTOR

PAGE: 20

SWIVEL JOINT

PAGE: 21




ALUMINIUM PROFILE

&

20

&.20
] @Zﬂ:
J—\

R2.50

—-I A0 —

LIMA]

=)

ol
-
s

oo - R3.40
U LIMA2020-6 U LIMA2020CR-6
Material Aluminium 6063-T5 Material Aluminium 6063-T5
Weight 0.465kg/m Weight 0.448kg/m
Length 6100mm Length 5000mm
2.
40 Rz 680
11 T ]
R2.50 T S'ZOH e l J_jo
) - M_Lj_k
o ) [ﬁ(\J- i !
i 3 } { L/ ; B
- L |
?a o | ] «EJ
U LIMA2040-6 U LIMA2525-6
Material Aluminium 6063-T5 Material Aluminium 6063-T5
Weight 0.808kg/m Weight 0.825kg/m
Length 6100mm Length 5080mm
20 - a0
$2.30 4:11362304 l : R25
F g L
o i 1!
g@ .
T @680 T
1 LT ﬁi
j ﬁ T‘ N D
U LIMA3030-8 U LIMA3030CR-8
Material Aluminium 6063-T5 Material Aluminium 6063-T5
Weight 0.938kg/m Weight 0.938kg/m
Length 6100mm Length 6100mm

LETROMEC




ALUMINIUM PROFILE

=14]

RN 18.60 pa—
, r-—-‘——B.QO

=@

.50

LIMA]

40)
R4.60 *‘ 20,60
T

40

T @ 8
- L]
@aa0 a
U LIMA3060-8 U LIMA4040H-8
Material Aluminium 6063-T5 Material Aluminium 6063-T5
Weight 1.832kg/m Weight 1.885kg/m
Length 6100mm Length 6100mm
40 8_ 4_20_-40
R4 20— T —112.30
rﬁ_ﬁs 40
y 5
i [
aglizn
@ R %\
j b Dé Li‘;: \J:ao
- P T

U LIMA4040L-8

U LIMA4040CR-8

Material Aluminium 6063-T5 Material Aluminium 6063-T5
Weight 1.355kg/m Weight 0.95kg/m
Length 6100mm Length 5000mm
EY:]Q 30[:0 R340 1:::50 R3.4
— - / n|
Ir D T D

U LIMA4040L3S-8

3
r ,ﬁ@
1L 1
ul:I i B D,f

U LIMA4040L2SA-8

40

2050 -

| o)
I’_r—‘|

Material Aluminium 6063-T5
Weight 1.48kg/m
Length 5000mm

Material Aluminium 6063-T5
Weight 1.51kg/m
Length 5000mm

LETROMEC




ALUMINIUM PROFILE

LIMA]

12.80

0670

U LIMA4040L2S0-8 U LIMA4080-8
Material Aluminium 6063-T5 Material Aluminium 6063-T5
Weight 1.355kg/m Weight 3.77kg/m
Length 6100mm Length 6100mm
45 48
i *‘ ?.1_5,?1_{;_20 } 020 ge. 26
r

U LIMA4545-10

45

"‘l@ﬂ

U LIMA4545-HFS

Material Aluminium 6063-T5 Material Aluminium 6063-T5
Weight 2.36kg/m Weight 1.95kg/m
Length 6100mm Length 6100mm

s

R42

R&5.258

e
e
—~| 2280 ) |
U LIMA4545CR-10
Material Aluminium 6063-T5
Weight 1.75kg/m
Length 5000mm

RZ2

12,40

U LIMA4590-10

Material Aluminium 6063-T5
Weight 4.11kg/m
Length 6100mm

LETROMEC




ALUMINIUM PROFILE

R2

R&.10

4

U LIMA6060-10 U LIMA6060-8
Material Aluminium 6063-T5 Material Aluminium 6063-T5
Weight 4.08kg/m Weight 2.604kg/m
Length 5000mm Length 5000mm
[y '~
ut/{

=19]
70
40

U LIMA8080-8 U LIMA9090-10

Material Aluminium 6063-T5 Material Aluminium 6063-T5
Weight 5.36kg/m Weight 6.32kg/m

Length 6100mm Length 6100mm

LETROMEC
GG




ACCESSORIES LIMA]

STANDARD FASTERNER SET

bl | | O LIMA-STJ8-8/3030
T - } Material: Zinc Plated Steel
| |
@8 Used together with button head

Screw M8x20 for LIMA3030-8,
. @ LIMA3060-8 AND LIMA6060-8
~ A\ I
f

- O LIMA-STJS-8/34040

= - @ - Material: Zinc Plated Steel
| | |
I

Used together with button head

g Screw M8x30 for LIMA4040-8,
)@ %D LIMA4080-8 AND LIMA8080-8
I

7.60

—

U LIMA-BH 12X30

]
®9.20 j

For simple, right angle and power
lock connection.

Used for LIMA-4545-10,
LIMA-6060-10 & LIMA-9090-10
Series profile

30

LETROMEC



UNIVERSAL JOINT SET

23

i
i

R Ry T
1
1

e -

o
1
1
1
1
1
1
1
1
1

-l 4 MCJBORE 280 e crnore
BACK) (BACK)
i . T =
& A s
5 ! ! - + + =
-~ s ' i
o - 6 ’ 1 A e
i . TR
U LIMA-UJT2020 U LIMA-UJT3030
- 770 lee wB crpoRE
770 (BACK] T Lo— MB[B?SERE
I—-—@187‘A‘7
! 1 @20 |
r—;"— ‘\'.1 , JEEREE

;
|

U LIMA-UIT4040

Material: Casted GD-Zn

Suitable for profiles need to be moved
frequently.

= LIMA-UJT2020 used with cap screw M4x16
and half round nut LIMA-HRN4-6/2020.

= LIMA-UJT3030 used with cap screw M6x25
and half round nut LIMA-HRN6-8/3030

= LIMA-UJT4040 used with cap screw M8x30
and half round nut LIMA-HRN8-8/4040

= LIMA-UJT4545 used with cap screw M8x30
and half round nut LIMA-HRN8-10/4545

fa—15.70 —

3.10—-1

7

Y

J<x

UNKMERSAL STEF DRILL ™

LETROMEC




INTERIOR BRACKET

L-—:zs—-J:{

U LIMA-1B2020

Material: Zinc Plated Carbon Steel

Used for LIMA2020-6 or LIMA2040-6
in right angle connection with M4 set
screw

ig

(e—31 50—y

U LIMA-IB4545

Material: Zinc Plated Carbon Steel

Used for LIMA4545-10, LIMA4590-10,
LIMA6060-10 or LIMA9090-10, in right
angle connection with M8 set screw

I-—31 e —

U LIMA-1B3030/4040

Material: Zinc Plated Carbon Steel

Used for LIMA3030-8,LIMA3060-8,
LIMA6060-8,LIMA4040-8,LIMA4080-8,
LIMA8080-8 in right angle connection
with M6 set screw

LETROMEC




ACCESSORIES LiMA)

GUSSETT ELEMENT

el
}
e
R
~ 0
710 4[
b E—
el G b — 90 =

U LIMA-GE20X20-6

Material: Die Casted Aluminium

Used for LIMA2020-6 or LIMA2040-6 in
right angle connection. Used with
button head screw M5x10 and half
round nut LIMA-HRN5-6/2020

30

s

FE |

L DU B
Ori @ ]
e
e

U LIMA-GE30X30-8

Material: Die Casted Aluminium

Used for LIMA3030-8,LIMA3060-8 or
LIMAG6060-8 in right angle connection.
Used with button head screw M6x12 and
half round nut LIMA-HRN6-8/3030

L

g

-

0

— =T =T

g

s N N

U LIMA-GE20X28-6

Material: Die Casted Aluminium

Used for LIMA2020-6 or LIMA2040-6 in
right angle connection. Used with
button head screw M5x10 and half
round nut LIMA-HRN5-6/2020

18.30|

O CH

£
I

!
|

~8.30

i

U LIMA-GE30X60-8

Material: Die Casted Aluminium

Used for LIMA3030-8,LIMA3060-8 or
LIMAG6060-8 in right angle connection.
Used with cap screw M6x12 and half
round nut LIMA-HRN6-8/3030

LETROMEC
GG



ACCESSORIES LiMA)

GUSSETT ELEMENT

-7388504-— ‘_D:i(’ﬁﬂﬂ
B 3 —

1 QJ H
T =

— I=
2 i
Ml i

e - ——LEJO_
—~ 1925 [ . A
= = i
AT o
3 ’ =)
At 4

— TW i |

——JgL— jm— Rl T

U LIMA-GE40X40-8

Material: Die Casted Aluminium
Used for LIMA4040-8,LIMA-4080-8 or
LIMAS8080-8 in right angle connection.

Used with cap screw M8x16 and half
round nut LIMA-HRN8-8/4040

42
-8
1

P -
|

- H,97
9

ﬁz

U LIMA-GE42X42-10

=

]2

— a2
[
[

D

Material: Die Casted Aluminium

Used for LIMA4545-10,LIMA4590-
10,LIMA6060-10 or LIMA9090-10 in
right angle connection. Used with cap
screw M8x20 and half round nut LIMA-
HRN8-10/4545

U LIMA-GE40X80-8

Material: Die Casted Aluminium

Used for LIMA4040-8,LIMA4080-8 or
LIMAS8080-8 in right angle connection.
Used with cap screw M8x16 and half
round nut LIMA-HRN8-8/4040

=]

il

$10.30

@1030

b

:

[
= o
— L10.30

%0
Fﬁzx-—dy 21

U LIMA-GE42X88-10

Material: Die Casted Aluminium

Used for LIMA4545-10,LIMA4590-
10,LIMA6060-10,LIMA4590-10 in right
angle connection. Used with cap M8x20
and half round nut LIMA-HRNS8-10/4545

LETROMEC



ACCESSORIES LIMA]

GUSSETT ELEMENT

B
= T e
il b ) 0
L L0 0
fin2lell il
— A R
i!:::© [:j O~ A A
I [P ™ | L,,&] (5
misi L
:f m u o |
Y im; E T f é I j —-ﬂt:g_go
' —T —
U LIMA-GE60X60-8 U LIMA-GE80x80-8
Material: Die Casted Aluminium Material: Die Casted Aluminium
Used for LIMA3060-8 or LIMA6060-8 in Used for LIMA4080-8 or LIMA-8080-8 in
right angle connection. Used with cap right angle connection. Used with cap
screw M6x12 and half round nut LIMA- screw Mx16 and half round nut LIMA-
HRN6-8/3030 HRNS8-8/4040

- 20

[ 7 p—

|
]

U LIMA-45GE40X40-8

Material: Die Casted Aluminium

For 45 degree connection. Used with
button head screw M8x30 for profile
LIMA4040-8 & LIMA4080-8

10 LETROMEC



ACCESSORIES

3 WAY CONNECTOR

20 —=
m III'II_—II'I

[ |
7 %

35
20
[ | T oAb

20—

34

U LIMA-3WC40X40-8

Material: Die Casted Aluminium

34

M nrmn

b 20 =
| | I

Used for LIMA4040-8 profile

U LIMA-HH8X20-8
Material: Zinc Plated Steel

Slot 8 treaded cutting screw with M8
flange nut size 13. Used for
LIMA4040-8, LIMA4080-8 or
LIMAB8080-8 series profile

U LIMA-HH8X25-10

Material: Zinc Plated Steel

Slot 8 treaded cutting screw with M8
flange nut size 13. Used for @
LIMA4545-10,LIMA4590-10,LIMA6060 3

or LIMA9090-10 series profile

11 LETROMEC




SLOT NUT

M5/ ME/INE

[l ]
~ il
I"_]5.5O_"I *

=790 _'[
NVE

U LIMA-SLN5-8/3030
U LIMA-SLN6-8/3030
U LIMA-SLN8-8/3030

%

f

Use for LIMA3030-8, LIMA3060-8
or LIMA6060-8 profile

Material: Zinc Plated Steel

M6/ M8

i

}
L Jsd

U LIMA-SLN6-8/4040
U LIMA-SLN8-8/4040

Use for LIMA4040-8, LIMA4080-8
or LIMA8080-8 profile

Inserted into the profile slot to connect

one profile to another.

LIMA]

M E/ME
7~ =
& f

©
19.80
L
13

__J

U LIMA-SLN6-10/4545
U LIMA-SLN8-10/4545

Use for LIMA4545-10, LIMA4590-
10, LIMA6060-10 or LIMA9090-10
profile

LETROMEC




HALF ROUND NUT

st | 3. 80w

(4

oS

— i |

030 ®
4.20

|
S

I ‘

M3/M4/M5

U LIMA-HRN3-6/2020
U LIMA-HRN4-6/2020
U LIMA-HRN5-6/2020

—

Use for LIMA2020-6 or
LIMA2040-6 profile

M3/M /M 5/ M E/M8B

U LIMA-HRN3-8/4040
U LIMA-HRN4-8/4040

132 O LMAHRN5-8/4040
ST O LMA-HRNG6-8/4040
O LIMA-HRNS-8/4040

]
-

&

Use for LIMA4040-8,
LIMA4080-8 or LIMA8080-8
profile

k&
L

A
L/

T

'=— O LIMA-HRN6-6/2525

Use for LIMA2525-6 profile

L'- 5.50

[

Material: Zinc Plated Steel

Universally usable mounti

ng

element fits into the profile

groove at any desired point by

means of spring thrust piece

13

*\o

T gy

Hi®

—-—|150|—-—H
77o|-——

CJ7

MA/ME/ME/ME

U LIMA-HRN4-8/3030
U LIMA-HRN5-8/3030
U LIMA-HRN6-8/3030
U LIMA-HRN8-8/3030

Use for LIMA3030-8 or
LIMA3060-8 profile

M4/M5/M6/MB

[ ] —

!

U LIMA-HRN4-10/4545
U LIMA-HRN5-10/4545
U LIMA-HRN6-10/4545
U LIMA-HRN8-10/4545

Use for LIMA4545-10,
LIMA4590-10, LIMA6060-10
or LIMA9090-10 profile

LETROMEC



ACCESSORIES LIMA]

RHOMBUS NUT

M3/MAME
M A/ MBS

U LIMA-RN3-6/2020
U LIMA-RN4-6/2020
U LIMA-RN5-6/2020

U LIMA-RN4-8/3030
U LIMA-RN5-8/3030
U LIMA-RN6-8/3030

= : ] Material: Zinc Plated Steel
Material: Zinc Plated Steel | : Used for LIMA3030-8,

- /_I\ Used for LIMA2020-6 or LIMA3060-8 or
ERESSEEOIprofile only LIMAG060-8 profile only

ft— G ]
|t 5 ]

U LIMA-RN4-104545
U LIMA-RN5-104545
U LIMA-RN6-104545
U LIMA-RN8-104545

U LIMA-RN3-8/4040
U LIMA-RN4-8/4040
U LIMA-RN5-8/4040
U LIMA-RN6-8/4040

Material: Zinc Plated Steel
Used for LIMA4545-10,
LIMA4590-10, LIMA6060-

| | 10 or LIMA9090-10 profile

only

Material: Zinc Plated Steel
Used for LIMA4040-8,

l l LIMA4080-8 or
LIMA8080-8 profile only

f—

580

- 550 —e]

SV
i 57 e

— -

14 LETROMEC




ACCESSORIES |
HINGE
I"zqg_ﬂ |—-—20—-|
1 P
Al 57 |
] e e
4 CFSUME l mMa CIEUNE I
2. O L‘;)_\

il
0 LIMA-H20X20-6

Material: Polyamide

Use for LIMA2020-6 or LIMA2040-6 profile.
Use with c¢/sunk screw M4x8 and rhombus
nut LIMA-RN4-6/2020

p———— 3 () ——]
i
ficy S A5 LMK

N
TR R -

40

© ©

U LIMA-H30X30-8

Material: Polyamide

Use for LIMA3030-8, LIMA3060-8 or
LIMAG6060-8 profile. Use with ¢/sunk screw
M6x16 and rhombus nut LIMA-RN6-8/3030

7.

OD—©

@

ME C/SUNK:

4
f— D5 ey

U LIMA-H30X40-8

Material: Polyamide

Use for LIMA3030-8 profile together with
LIMA4040H-8. Use with c/sunk screw
M6x16 and rhombus nut LIMA-RN6-8/3030

EI LIMA-HZC20X20-6

Material: Zinc (Black)

Use for LIMA2020-6 or LIMA2040-6 profile.
Use with ¢/sunk screw M4x8 and rhombus
nut LIMA-RN4-6/2020

e —

A0

©
@

prt——— 51—y

15

Mé CFSUME

f

=13

e O

U LIMA-HZC30X30-8

Material: Zinc (Black)

Use for LIMA3030-8, LIMA3060-8 or
LIMAG6060-8 profile. Use with ¢/sunk screw
M6x16 and rhombus nut LIMA-RN6-8/3030

OO

oHp

M8 C/SUNK

b /7

| OA
f

U LIMA-HZC30X40-8

b

Material: Zinc(Black)

Use for LIMA3030-8 profile together with
LIMA4040H-8. Use with c/sunk screw
M6x16 and rhombus nut LIMA-RN6-8/3030

LETROMEC



g

O ©
®

g CrEUME

B :: O} .
A 1]

b
t-f

U LIMA-H40X40-8

Material: Polyamide

Use for LIMA4040-8, LIMA4080-8 or
LIMA8080-8 profile. Use with c/sunk screw
M6x16 and rhombus nut LIMA-RN6-8/4040

173 ®
© Q@

T
A6 CF SLIME

50

30—~y

U LIMA-H45X45-10

Material: Polyamide

Use for LIMA4545-10, LIMA4590-10 or
LIMA9090-10 profile. Use with c/sunk screw
M6x18 and rhombus nut LIMA-RN6-10/4545

80 -
18 3015 = 7
ra

[i D
28 () é
k

40 | @8.40

éfw @\ i

U LIMA-HZC60X60-10

Material: Zinc
Use for LIMA6060-10

=32

o
|

®
Simi®

g CFSUME

[ O

=13

U LIMA-HZC40X40-8

Material: Zinc (Black)

Use for LIMA4040-8, LIMA4080-8 or
LIMAS8080-8 profile. Use with c/sunk screw
M6x16 and rhombus nut LIMA-RN6-8/4040

| Sl

S H®
e N @

i S SUMEK
2 ¢ (@) y
T

o?—]

50
3

I

U LIMA-HZC45X45-8

Material: Zinc (Black)

Use for LIMA4545-10, LIMA4590-10 or
LIMA9090-10 profile. Use with c/sunk screw
M6x18 and rhombus nut LIMA-RN6-10/4545

LETROMEC




MAGNETIC LOCK

R
D
|
IO

6,30J L-H —= 350 b—

P 8

TCET

fot— D) — -

TOOL HANGER

FLOOR BRACKET

%FQ

il

G[;“”_"' =
@]

Glr} | @830

alp

e |
1,
{3 el

1.50
" ) 2.50*-| r— "r R7.75

17

&

U LIMA-MGL-8

d

Material: Polyamide & Magnetic

Plastic case with M5x6 head. Use to
lock PVC/Polycarbonate door

U LIMA-TH8/10

Material: Sliding part: ABS
Hook: Steel Zinc Plate

Use in LIMA3030-8, LIMA3060-8,
LIMA4040-8, LIMA4080-8,
LIMA4545-10, LIMA4590-10,
LIMA6060-10, LIMA9090-10

Tuas1

U LIMA-FB

Material: Die Casted Aluminium

Use to securely fixes aluminium
profiles to the floor

LETROMEC




MULTI BLOCK

T
AN

ST
f

/5 LD

U LIMA-MB4-6/20X2

35”_'
N
D

0 -

Material: Polyamide

Use for LIMA2020-6 or LIMA2040-6
profile

20—

\P)
[

{
e

U LIMA-MB6-8/4040

Material: Polyamide

Use for LIMA4040-8, LIMA4080-8 or
LIMA8080-8 profile

20 M I"—17—'—|

20

23
—=l 530 b

D

U LIMA-MB6-8/3030

Material: Polyamide

Use for LIMA3030-8, LIMA3060-8 or
LIMA6060-8 profile

M6 23 -

11.50  |=—

B
&

U LIMA-MB6-10/4545

Material: Polyamide

Use for LIMA4545-10, LIMA4590-10,
LIMA6060-10 or LIMA9090-10
profile

LETROMEC



END CAP

UNIVERSAL HANDLE

i_ | 20

o

—

U LIMA-EC20X20-6

L LIMA-EC20X20CR-6
U LIMA-EC20X40-6

U LIMA-EC30X30-8

U LIMA-EC30X30CR-8
U LIMA-EC30X60-8

U LIMA-EC40X40-8

U LIMA-EC40X40CR-8
L LIMA-EC40X80-8

U LIMA-EC45X45-10
U LIMA-EC45X45CR-1
U LIMA-EC45X90-10
U LIMA-EC60X60-10
U LIMA-EC60X60-8

L LIMA-EC80X80-8

U LIMA-EC90X90-10

0

1

L

70

______

[

| 120

— 3] —]

19

U LIMA-HANDLE-S

Material: Polyamide

Use for all profile

U LIMA-HANDLE-B

Material: Polyamide

Use for all profile

LETROMEC




ACCESSORIES LIMA]

JOINT CONNECTOR

~ 100 -
= 5 50— - R 5
— ]O mt— el — I::Zl
)
M5 *
O LIMA-JC2020-6
180
110 —— 10 - 5
= 20— 0 ﬁjﬁ le
T & & O Eﬁ]

Mié
U LIMA-JC3030-8

150

150

110 .
(=20 —= o i & %50 E-?O
I
aea & e B o o
FLA
U LIMA-JC4040-8
- 140 : -
1a0
20 o = = - ]505%0
= e
X 1 3*“ Jﬁ f*“ﬁ. (=] ﬁ: %
\w; '\?l’ \_fs “:"x — o
WA

U LIMA-JC4545-10

U LIMA-JC2020 U LIMA-JC4040

Material; Zinc Plated Steel. Material; Zinc Plated Steel.
Use for LIMA2020-6 & Use for LIMA4040-8,
LIMA2040-6 LIMA4080-8, LIMAS080-8
U LIMA-JC3030 U LIMA-JC4545

Material; Zinc Plated Steel. Material; Zinc Plated Steel.
Use for LIMA3030-8, Use for LIMA4545-10,

LIMA3060-8, LIMA6060-8 LIMA4590-10,LIMA9090-10

20 LETROMEC
GG



AGCESSORIES LIMA]

SWIVEL JOINT

20 PE.40

U LIMA-SJ3030-8 U LIMA-SJ3030H-8 U LIMA-SJ4040-8

U LIMA-SJ4040H-8

53
[— 30,50 —-]

TEAD

Ho

U LIMA-SJ4545-8 U LIMA-SJ4545H-8

Material: Die Casted Aluminium

21 LETROMEC




ACCESSORIES LIMA]

FOOT MOUNTING

U SWIVEL TYPE

LIMA-FMA40
LIMA-FM50 M10 100 50
2 LIMA-FM80 M12 100 80
‘ Material: Polyamide Foot Pad c/w
| e | Zinc Plated Steel Thread & Nut

A

U NON-SLIP TYPE

LA54M870B

LA54M10110B M10 110 54

LA54M12110B M12 110 54
7 LA78M12165B M12 165 78

LA78M16165B M16 165 78

22 LETROMEC
-— ===



CARRYMASTER CASTOR WHEEL

AC-50

LIMA]

© LIGHT DUTY PURPOSE

AC-50F AC-50S

Max Load Capacity with 1 Caster - 55Lbs.
Recommended Load Capacity with 4 Casters - 220 Lbs.
Unit Weight - F Type: 0.84 Lbs. ea.

S Type: 0.84 Lbs. ea.

o '7"232'7 32
@18 32 — 018
] > '
i 2 Wi ) . J
o f-q} d b 9 / =~
e = N
f}&:j}’“j = M
N A of . M8 TAP DP12 g
42 M12 by order
55

“F" Type “S” Type

*Measurement in mm (Millimeter)

(1) | Top plate| SM45C Zn Galvanized (®) | Leveler(M-8)| SM45C Zn Galvanized
@ | Bal STB2 Ni-Cr ® Foot *N.B.R. Black
@ | Frame | ADCS8 Powder Coated @ Pin SM45C | Zn Galvanized
@ | Handle | NYLON-6 Red ® | Wheel |NYLON-6 Black
*Urethane by order
23 LETROMEC



ACCESSORIES LIMA]

CARRYMASTER CASTOR WHEEL

"o UGHTOUTY PURPOSE AC-300

AC-300F AC-300S

@ Maximum Load Capacity with 1 Caster- 330 Lbs.
» Recommended Load Capacity with 4 Casters - 1,320 Lbs.
@ Unit Weight - F Type: 1.67 Lbs. ea.

S Type: 1.67 Lbs. ea.

r 45
= 4-06.5HOLE = MIZIAPDPIS  ges
111 ==t : ] L e e
§ &%@ g ?/’" ‘\;Z
i \f@) 3 ‘ N g /7@{\\ 2 ® N
] ]
" %ﬁ? \ & & W \N
I ’ e .1 ; g A
gg o a7 @ @ "
“F“ T}',pe IISH T}'pe

*Measurement in mm (Millimeter)

Ar op plate smsc 7 Zn Galvanized ®) |Leveler(M-10)] SM45C | Zn Galvanized
@ | Bal STB2 Ni-Cr ® Foot *N.B.R. Black
@ | Frame | ADCS8 Powder Coated @ Pin SM45C | Zn Galvanized
@ | Handle | NYLON-6 Red ® | Wheel |[NYLON-6 Black

*Urethane by order

24 LETROMEC
-— ===



LIMA]

CARRYMASTER CASTOR WHEEL

AC-600

© MEDIUM DUTY PURPOSE

AC-600S

® Maximum Load Capacity with 1 Caster- 660 Lbs.
® Recommended Load Capacity with 4 Casters - 2,640 Lbs.

® Unit Weight - F Type: 3.04 Lbs. ea.
S Type: 2.46 Lbs. ea.

g Em W12 TAP DP15
A-53.5 HOLE 25 g 16 by ardar
. 48 —
\! il
ar & 5 =
41 Lz
1/ INZ
p W o
] ]

Bl

“F" Type “S" Type

*Measurement in mm (Millimeter)

Top plate| SM45C Zn Galvanized | ® Leveler(M-1 2)| SM45C Zn Galvanized
@ | Bal STB2 Ni-Cr ® Foot *N.B.R. Black
@ | Frame | ADC8 Powder Coated @ Pin SM45C | Zn Galvanized
(@ | Handle | NYLON-6 Red @® | Wheel |NYLON-6 Black
*Urethane by order
25 LETROMEC



LIMA]

CARRYMASTER CASTOR WHEEL

A
© MEDIUM DUTY PURPOSE

-

AC-1000

<y
g |

AC-1000 F AC-1000 5

& Maximum Load Capacity with 1 Caster- 1,100 Lbs.
& Recommended Load Capacity with 4 Casters - 4,400 Lbs.

® Unit Weight - F Type: 4.01 Lbs. ea.
S Type: 3.43 Lbs. ea.

|_ | ™~ I I
2 & R :
N
g W ¢ \"%%
z T ® o
“F” Type “S" Type

*Measurement in mm (Millimeter)

(1 | Top plate| SM45C Zn Galvanized (B |Leveler(M-12) SM45C | Zn Galvanized
@ | Bal STB2 Ni-Cr ® Foot *N.B.R. Black
(3| Frame | ADCS Powder Coated @ Pin SM45C | Zn Galvanized
@) | Handle | NYLON-6 Red ® Wheel | NYLON-6 Black
*Lirethane by ordar
26 LETROMEC



CARRYMASTER CASTOR WHEEL

AC-1300

LIMA]

© MEDIUM DUTY PURPOSE

; Wl

AC-1300F AC-1300S

o

Maximum Load Capacity with 1 Caster- 1,430 Lbs.
Recommended Load Capacity with 4 Casters - 5,720 Lbs.
Weight - F-Type 4.50 Lbs.

S-Type 4.00 Lbs.

® 0

4=11 HOLE

80.5
| —
i1

a5
70

LR

W18 TAF DP18

“S” Type

*Measurement in mm (Milimeter)

(@ | Top plate Zn Galvanized ® Foot ADCS8 Black
@ Ball STB2 Ni-Cr ® Pin SM45C | Zn Galvanized
@) | Frame ADCS8 Powder Coated @ Wheel NYLON-6 Black
Leveler
@ (M-16) SUS304
27

LETROMEC




ACCESSORIES LIMA]

CARRYMASTER CASTOR WHEEL

© ULTRA HEAVY DUTY PURPOSE AC- ’ 800F

@ y
J AC-1BD0F

& Maximum Load Capacity with 1 Caster- 1,984 Lbs.
¢ Recommended Load Capacity with 4 Casters - 7,920 Lbs.
» Weight - 11.88 Lbs.

89
172
100 4-313 HOLE oo T 3 g
0 09
== IS : e
2/8® i 7\ SEE
- F]MW’ B

\
“F" Type }i) }é)

*Measurement in mm (Millimeter)

(1) | Top plate| SM45C Zn Galvanized (B Foot ADCS Black
@ Ball STB2 Ni-Cr (3] Pin SM45C | Zn Galvanized
(3| Frame | GCD45 Powder Coated (T Wheel | MC Nylon Sky Blue
Leveler
@ (M-20) SUS304
28 LETROMEC



LETROMEC

(=

N2

Ny

LETROMEC INDUSTRIES (M) SDN BHD
33,Persiaran Mahsuri 1/1, Sunway Tunas,
11900 Bayan Lepas, Pulau Pinang,
Malaysia.

Tel :+604-644 4466 / +604-644 3741
Fax: :+604-644 3749

Email: sales-pg@letromec.com

MAINLAND OFFICE

33, Jalan IKS, Bukit Tengah, Taman IKS,
14000 Bukit Mertajam, Penang,
Malaysia

Tel :+604-508 2188

Fax :+604-504 0149

Email: sales-pg@letromec.com

LETROMEC INDUSTRIES (KL) SDN BHD

No. 2A, Jalan MJ 14, Taman Industri Meranti Jaya,
47120 Puchong, Selangor,

Malaysia.

Tel :+603-8063 0270

Fax: :+603-8063 0276

Email: sales-kl@letromec.com

LETROMEC INDUSTRIES (IPOH) SDN BHD

No. 14, Medan Bendahara 1, 31650 Ipoh,
Perak, Malaysia.

Tel :+605-254 8868

Fax: :+605-254 7868

Email: sales-ipoh@Iletromec.com

LIMA TECHNOLOGIES (M) SDN BHD

No. 2A, Jalan MJ 14, Taman Industri Meranti Jaya,
47120 Puchong, Selangor,

Malaysia.

Tel :+603-8052 0929

Fax: :+603-8052 6309

Email: limatechmsb@gmail.com




